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Our country is facing the problem of traffic
congestion on roads. What is the solution?
a) Use Public Transport
b) Go Underground
¢) Odd-Even Rule

The world today is facing the problem of
pollution. How can pollution be?

a) Strict govt. norms

b) Spread awareness

c) Ban diesel vehicles

The environment is getting polluted day-
by-day. What is the reason?
a) Industry
b) Stubble burning or waste/garbage
burning
c) Vehicles

Women today are breaking many social
barrier and picking up jobs. Which
job/occupation is best suited to Indian
women?

a) Teacher

b) Doctor/Engineer/Lawyer

c) Govt. services

India has been known to accept refugees in
the past, which has always caused
problems at the local as well at the national
level. What should the stand of the
government be?
a) Return them after negotiations
b) Force them to return like other
countries
c) Accept them on
grounds

humanitarian

6.

India has been known to accept

refugees in the past, which has always

caused problems at the local as well at

the national level. What is the reason

for the refugee crisis?

a) Soft governance

b) Support from certain sections of
our society

c) Lack of border management

Of late, we have seen that there are
sudden agitations undertaken by
people in the country. What is the
reason?

a) Political motivation

b) Genuine demands

c) Election gimmick

The stock market is volatile. According
to you, what is the best form of
investment of hard-earned money?

a) Real estate or property

b) Stock market and mutual funds

c) Gold

d) Fixed deposit

9. The government has announced a

number of schemes for the common
man. How can these schemes be

effectively implemented on the
ground?

a) Have a transparent system of
payment

b) Enforce accountability of officials
c) Spread awareness




